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1. B IDEE Vo =i+ ; ) = R.LF hy=| 0500
(2Lt 7= o040g)
301+ 0301
314 o« 108 g 6138+ K 3 230 yooo= 23640 o’
2 F0DERTLKDES (4 ¢ 1) V.- d = 216398 x o= 23840 ton
3 4L YDBEE (d, :78] W, ={2xcZty + 2%ty +nanct x ) 14
2 x 314 x 1.00 6136 x 0008 +
2 x 314 % 109 ’x 0009 +
0 x 304 x 109 *x 0x) 78 = 31447 ton
4, 2L9MFERH F = vd, — W, = 28865 — 4043 = 20435 ton
5 578D v, = I L+, — (V40T ol T =
( 1000 x 3000 % 3220 ) —
¢ 236338 + 0.7 x% 3 x 3000 x
0500 x 0400 = 42720 m’
5 BtnER {3, 18] V. d, = v, x18 = 42120 x 13 = 76396 tan
7 ETOHRTAKDR (4, + 1 V,d, = V,x10 = 42720 x 10 = 42720 ton
8. BEOFAIHITALAEDE W, = v, - V,d, = 76896 — 42720 = 34176 tan
9, EHEDKE v, = LLh, + 0. 7o Lok T=
{ 7000 % 3000 x 0300 )+
{ 07 x 3 % 3000 x 0500 x
0400 )= 756 m’
0 EROER id, 24 Vod, = 756 x 24 = 18144 ton
U HEROHRSEZK0ES (@, ;0 1} Vo, = 758 10 = 1560 ton
12, BREZORK-HT LB W, = vd, — v, = 18144 — 7560 = 10534 ton
13, FELGWER W, + W, > F 34176 4+ 1058 > 204951
14, H A, E DK EBRE R = = (Fy— By Fo= 80 - 26 X 3 = 486 mm’
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Wa = (2 ¢ H { Z¥Z¥, 0 —— (2 + - Vol % {d,—d) =
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9.30! ;' 0301 N - 1) = 15578 ton
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NUNDFRESRTER 8 = T x o x N = > ” - " p XO0un = 2843 mm
LAV IERET bRl 5 z S 486z 38413
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F —w ¢ H
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Moo= 1|2§J TR =1.123 . o 3o = 9 e
{20495 - 15578 1% 1000 = 4917
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Q0K LI T 4> 7 X HEMHfaf A R &
1) S 250k 2 — L%) L RB DR KIFE# R E (Po)
Po = «./3 (085 ock-Act+ gsv-As)
Po  ERITE#AET E (kg)
ock ;v oU—h28 A AR FTELUEMRE 180 (ke/cm)

Ac  BEERIEO= ) —MErEE (en)
Ac= 71 /4-D= 314 4 x 25 x 25 = 4906 (cm?)

o syl H T AIERRS O E MM R S5 A E2100(kg cm)

As  EFFESEHOErERE  (FEH16mndR)
As= 314 x 08 x 08 x 4 = 8038 (cm?)

o i EfREL
he/d £1508F o=1
15<he / d=MF o =145—0.03-he/d
he (#FEOFZHES(m) 192 (cm)

d S FEEMEO R/ METE (em)
198 = /2 = 14.0007 (cm)

he/d= 192 . 14.001 = 13.1
it = 1

Po= { 3( 085 x 180 x 4306 + 2100 x 8038 )
= 30649 kg = 30.65 ton

2y avIU—rARTDEE
L = 820 x 335 Xx 03 x 24 = 1978 ton

) HEREE 24.00 ton

4) AL rpre A Lol TS
3065 x 6 = 18.78 4+ 24.00
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r = 1.050
2 = 6.136
g, £, = 470
L EB 3. 14X1. 05° x(?:s. 136+_0.__407J50. 407 )
= 22, 180 ¢
T aE 20, 000 ¢
£ @WE 2 180 2
EmME 9. 82 %




